
3.3 Single tubes and Vibo

3.6 Télébar

3.10 Super-Télébar and Barboy

3.16 Multibar Bechler

3.22 CADDIE AS-14 / SAS-16

3.24 Robobar

3.26 FMB Turbo

3.28 Bechet

3.32 FMB, Traub, IEMCA, LNS, SAMECA

3.34 IEMCA

3.36 CUCCHI

3.40 LNS

3.43 "Longlife" collets

3 Accessories for barloaders



N
otes

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch



Single tubes and Vibo

D L BarloaderItem No

V100 4.50 430.00 Tornos M4
V101 4.50 510.00 Tornos M4
V102 4.50 510.00 Tornos T4
V103 6.50 565.00 Tornos M7
V104 6.50 665.00 Tornos MS7
V105 10.00 755.00 Tornos R10
V106 10.00 825.00 Tornos R10
V109 12.00 533.00 Tornos R125
V110 12.00 711.00 Tornos R125
V111 16.00 750.00 Tornos R16
V113 20.00 750.00 Tornos RR20
V115 25.00 800.00 Tornos MR28
V117 30.00 800.00 Tornos MR32
V200 4.50 800.00 Bechler AS4
V201 6.50 800.00 Bechler AS7
V202 10.00 800.00 Bechler AR10
V203 12.00 1060.00 Bechler BE12
V204 16.00 1060.00 Bechler BR16
V205 20.00 1060.00 Bechler BE20
V206 30.00 1060.00 Bechler C32
V300 4.50 620.00 Petermann P4
V301 6.50 800.00 Petermann P7
V302 10.00 800.00 Petermann P7R
V303 10.00 950.00 Petermann P7R
V304 14.00 790.00 Petermann 10HS
V305 16.00 890.00 Petermann P16
V306 25.00 900.00 Petermann P25

Simple pushrods

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.3

3



Single tubes and Vibo

DItem No

V400 7.00
V401 10.00
V402 12.00
V403 14.00
V404 16.00
V405 20.00
V406 25.00
V407 28.00
V408 30.00

Changeable Flags

D L MItem No

V600 4.50 30.00 M3.50
V601 7.00 42.00 M5.00
V602 10.00 49.00 M6.00
V603 12.00 49.00 M6.00
V604 14.00 80.00 M8.00
V605 16.00 80.00 M10.00
V606 20.00 88.00 M10.00
V607 25.00 108.00 M12.00
V608 30.00 108.00 M14.00
V609 32.00 108.00 M16.00
V610 36.00 108.00 M16.00

Simple revolving end pieces

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.4

3A
ccessories for barloaders



Single tubes and Vibo

D L BarloaderItem No

V107 10.00 540.00 R10
V108 10.00 710.00 R10
V112 16.00 750.00 R16
V114 20.00 750.00 RR20
V116 28.00 750.00 MR28
V118 30.00 750.00 MR32

Vibo pushrods

DItem No

V500 10.00
V501 16.00
V502 20.00
V503 25.00
V504 28.00
V505 30.00

Vibo flags

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.5

3



Télébar

Shank D Distance piecePushrod End capHook
Télébar 12 tubes (M4)

4.50 V1000 V1001 lg. 30.00 V1003 V1100
V1002 lg. 85.00

Télébar 12 tubes (M7)

5.50 V1004 V1005 lg. 40.00 V1008 V1101
V1006 lg. 70.00

V1007 lg. 110.00
Télébar 9 tubes (M7)

7.00 V1009 V1011 lg. 50.00 V1013 V1102
V1012 lg.110.00

Télébar 9 tubes (R10)

7.00 V1010 V1011 lg. 50.00 V1013 V1102
V1012 lg. 110.00

Télébar summary

D L BarloaderItem No

V1000 4.50 467.00 Télébar 12 tubes (M4)
V1004 5.00 570.00 Télébar 12 tubes (M7)
V1009 7.00 570.00 Télébar 9 tubes (M7)
V1010 7.00 695.00 Télébar 9 tubes (R10)

Pushrods

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.6

3A
ccessories for barloaders



Télébar

D L BarloaderItem No

V1001 4.50 30.00 12 tubes M4
V1002 4.50 85.00 12 tubes M4
V1005 5.00 40.00 12 tubes M4
V1006 5.00 70.00 12 tubes M4
V1007 5.00 110.00 12 tubes M4
V1011 7.00 50.00 9 tubes M7 et R10
V1012 7.00 110.00 9 tubes M7 et R10

Distance pieces

D BarloaderItem No

V1003 4.50 12 tubes M4
V1008 5.00 12 tubes M7
V1013 7.00 9 tubes M7 & R10

Hooks

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.7

3



Télébar

D BarloaderItem No

V1100-Ø 4.50 12 tubes M4
V1101-Ø 5.50 12 tubes M7
V1102-Ø 7.50 9 tubes M7 and R10

End caps

L1DItem No

T32024 - -

Driving guide plate

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.8

3A
ccessories for barloaders



N
otes

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch



Super-Télébar and Barboy

CableShank D ColletEnd piecePushrod Fixed Jaws
Super-Télébar 30 tubes

4.50 V1400 V1030 V1600 H29Q (lg. 2m) V9000
5.50 V1031 V1031a H29M (lg. 3m) V9000

Super-Télébar 24 tubes

7.00 V1401 V1032 V1032a H29P (lg. 3m) V9000
7.50 V1401 V1033 V1032a H29P (lg. 3m) V9000
8.50 V1402 V1034 V1034a H29P (lg. 3m) V9000

Super-Télébar 24 tubes vertical

7.00 V1401 V1032 V1032a H29R (lg. 3m) V9000
7.50 V1401 V1033 V1032a H29R (lg. 3m) V9000
8.50 V1402 V1034 V1034a H29R (lg. 3m) V9000

Super-Télébar summary

Shank D ColletEnd pieceRod for pushrodFlag for pushrod
Barboy

5.50 V1031 V1031aV1301V1300
7.00 V1032 V1032aV1303V1302
7.50 V1033 V1032aV1303V1302
8.50 V1034 V1034aV1305V1304
10.50 V1035 V1035aV1307V1306
12.00 V1037 V1037aV1309V1308
13.00 V1038 V1038aV1311V1310
15.00 V1100 V1608
16.00 V1101 V1609
20.00 V1102 V1121a

Barboy summary

D L Ø CapacityMItem No

V1300 5.00 373.00 2 - 4M3.00
V1302 7.50 374.00 2 - 7M5.00
V1304 8.00 374.00 2 - 9M5.00
V1306 10.00 375.00 7 - 11M6.00
V1308 12.00 375.00 7 - 11M6.00
V1310 13.00 420.00 13 - >M7.00

Flags for pushrods

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.10

3A
ccessories for barloaders



Super-Télébar and Barboy

D L M1Item No M2

V1301 5.00 742.00 M3.00M3.00
V1303 7.00 742.00 M5.00M5.00
V1305 8.00 742.00 M5.00M5.00
V1307 10.00 742.00 M6.00M6.00
V1309 12.00 742.00 M6.00M6.00
V1311 13.00 944.00 M6.00M7.00

Rods for pushrods

D L BarloaderItem No

V1400 4.50 457.00 24 and 30 tubes
V1401 7.00 453.00 24 and 30 tubes
V1402 8.50 453.00 24 and 30 tubes

Pushrods

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.11

3



Super-Télébar and Barboy

D L M1 BarloaderItem No M2

V1030 4.50 62.00 M3.00M3.00 30 tubes
V1031 5.50 62.00 M3.00M3.00 30 tubes

Revolving end pieces for Super Télébar 30 tubes

D L M1Item No M2

V1032 7.00 63.00 M4.00M5.00
V1033 7.50 63.00 M4.00M5.00
V1034 8.50 63.00 M5.00M5.00
V1035 10.50 70.00 M6.00M6.00
V1037 12.00 70.00 M6.00M6.00
V1038 13.00 70.00 M6.00M6.00
V1100 15.00 92.00 M6.00M7.00
V1101 16.00 92.00 M8.00M7.00
V1102 20.00 92.00 M8.00M7.00

Revolving end pieces for Super Télébar 24 tubes &  Barboy

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.12

3A
ccessories for barloaders



Super-Télébar and Barboy

D L MItem No

V1600-Ø 4.50 31.00 M3.00 ext.
V1031a-Ø 5.50 31.00 M3.00 ext.

Collets for Super Télébar 30 tubes

D L MItem No

V1032a-Ø 7.50 30.00 M4.00 int.
V1034a-Ø 8.50 30.00 M5.00 int.
V1035a-Ø 10.50 35.00 M6.00 int.
V1037a-Ø 12.00 35.00 M6.00 int.
V1608-Ø 15.00 35.00 M6.00 int.
V1609-Ø 16.50 33.00 M8.00 int.
V1121a-Ø 20.50 33.00 M8.00 int.

Collets for Super Télébar 24 tubes

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.13

3



Super-Télébar and Barboy

Ø CableD L BarloaderItem No

H29Q 4.80 3.08 m3.80 30 tubes (2 m)
H29M 4.80 4.08 m3.80 30 tubes (3 m)
H29P 6.80 4.08 m3.80 24 tubes (3 m)
H29R 6.80 4.08 m4.80 24 tubes vertical
H227-24 6.80 3.94 m3.80 24 tubes Robobar SSF
H227-40 4.80 3.94 m3.80 40 tubes Robobar SSF

TELEFLEX cables

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.14

3A
ccessories for barloaders



Super-Télébar and Barboy

D (Capacity)Item No

V9000.0809 Ø 0.8-0.9
V9000.0910 Ø 0.9-1.0
V9000.1011 Ø 1.0-1.1
V9000.1112 Ø 1.1-1.2
V9000.1213 Ø 1.2-1.3
V9000.1314 Ø 1.3-1.4
V9000.1415 Ø 1.4-1.5
V9000.1516 Ø 1.5-1.6
V9000.1617 Ø 1.6-1.7
V9000.1718 Ø 1.7-1.8
V9000.1819 Ø 1.8-1.9
V9000.1920 Ø 1.9-2.0
V9000.2021 Ø 2.0-2.1
V9000.2223 Ø 2.2-2.3
V9000.2425 Ø 2.4-2.5
V9000.2526 Ø 2.5-2.6
V9000.3031 Ø 3.0-3.1
V9000.3536 Ø 3.5-3.6
V9000.4041 Ø 4.0-4.1
V9000.4546 Ø 4.5-4.6
V9000.5051 Ø 5.0-5.1
V9000.5556 Ø 5.5-5.6
V9000.6061 Ø 6.0-6.1
V9000.6364 Ø 6.3-6.4
V9000.6566 Ø 6.5-6.6
V9000.7071 Ø 7.0-7.1
V9000.7576 Ø 7.5-7.6
V9000.8081 Ø 8.0-8.1
V9000.8586 Ø 8.5-8.6

Fixed jaws for Super Télébar, Barboy and Robobar

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.15

3



Multibar Bechler

Shank D ColletEnd piecePushrod Pushrod with rope Pushrod with chain
Multibar 320

4.50 V1026 V1026aV1200 V1201
Multibar 3000H

5.00 V1214 V1027 V1027a
5.00 V1215

Multibar 5.5

5.50 V1106 V1802V1202 V1203
Multibar 7.0

7.00 V1216 V1028 lg. 83 V1028aV1204 V1206
7.00 V1217 V1028 lg. 60 V1028aV1205 V1207
7.00 V1218 V1208

Multibar 10.0

10.00 V1219 V1029 lg. 102 V1029aV1209 V1212
10.00 V1220 V1029 lg. 86 V1029aV1210

V1211
Multibar 12.0

12.00 V1230 V1110 lg. 122 V1122a
12.00 V1231 V907 lg. 90 V1122b

Multibar 16.0

16.00 V1117 V1123aV1213
V1807

Multibar 20.0

20.00 V1221 V1118 V1124aV1222
V1809

Multibar Bechler summary

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.16

3A
ccessories for barloaders



Multibar Bechler

D L l Fig.Item No

V1200 4.50 1033.00 400.00 2
V1202 5.50 1033.00 400.00 2
V1204 7.00 980.00 400.00 2
V1205 7.00 1029.00 400.00 2
V1208 7.00 1305.00 460.00 1
V1209 10.00 948.00 400.00 2
V1210 10.00 1008.00 400.00 2
V1211 10.00 1278.00 460.00 1
V1213 16.00 1266.00 460.00 1

Pushrods with rope

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.17

3



Multibar Bechler

D L lItem No

V1201 4.50 1033.00 400.00
V1203 5.50 1033.00 400.00
V1206 7.00 1019.00 400.00
V1207 7.00 1029.00 400.00
V1212 10.00 1019.00 400.00
V1222 20.00 1273.00 400.00

Pushrods with chain

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.18

3A
ccessories for barloaders



Multibar Bechler

D L lItem No

V1214 5.00 733.00 160.00
V1215 5.00 917.00 200.00
V1216 7.00 753.00 160.00
V1217 7.00 965.00 160.00
V1218 7.00 980.00 160.00
V1219 10.00 712.00 160.00
V1220 10.00 948.00 220.00
V1221 20.00 925.00 220.00
V1230 12.00 980.00 220.00
V1231 12.00 712.00 160.00

Pushrods type 73

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.19

3



Multibar Bechler

D L Fig.M1Item No M2

V1026 4.50 54.00 M2.50 1M3.00
V1027 5.00 58.50 M3.00 1M3.50
V1106 5.50 57.00 M3.50 1M4.00
V1028-60 7.00 60.00 M4.00 2M5.00
V1028-83 7.00 83.00 M4.00 2M5.00
V1029-86 10.00 86.00 M5.00 2M6.00
V1029-102 10.00 102.00 M5.00 2M6.00
V907 12.00 90.00 M5.00 2M8.00
V1110-122 12.00 122.00 M5.00 2M8.00
V1117 16.00 100.00 M6.00 2M12.00
V1118 20.00 104.00 M8.00x1.00 2M16.00

Multibar revolving end pieces

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.20

3A
ccessories for barloaders



Multibar Bechler

D L MItem No

V1026a-Ø 4.50 22.00 M2.50
V1027a-Ø 5.00 22.00 M3.00
V1802-Ø 5.50 22.00 M3.50
V1028a-Ø 7.00 22.00 M4.00
V1029a-Ø 10.00 26.00 M5.00
V1122a-Ø 12.00 26.00 M5.00
V1122b-Ø 12.00 60.00 M5.00
V1123a-Ø 16.00 30.00 M6.00
V1807-Ø 16.00 60.00 M6.00
V1124a-Ø 20.00 30.00 M8.00x1.00
V1809-Ø 20.00 60.00 M8.00x1.00

Collets

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.21

3



CADDIE AS-14 / SAS-16

D L Ø CapacityMItem No

V8.50 8.50 939.00 4.00 - 6.50M5 left
V9.50 9.50 927.00 6.50 - 8.50M6 left
V10.50 10.50 927.00 7.50 - 9.50M6 left
V12.50 12.50 927.00 9.50 - 10.50M6 left
V15.00 15.00 914.00 10.50 - 13.50M7 left
V16.50 16.50 914.00 13.50 - 16.00M8 left

Pushrods

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.22

3A
ccessories for barloaders



CADDIE AS-14 / SAS-16

D L M1Item No M2

V1111 8.50 63.00 M5.00M5.00
V1112 9.50 72.00 M6.00M6.00
V1103 10.50 72.00 M6.00M6.00
V1104 12.50 72.00 M6.00M6.00
V1105 15.00 92.00 M6.00M7.00
V1113 16.50 92.00 M8.00M8.00

Revolving end pieces

Bore from - to -D MItem No

V1699-Ø 8.50 2.00 - 7.00M5.00 left
V1700-Ø 9.50 2.00 - 8.00M6.00 left
V1125a-Ø 10.50 3.00 - 9.00M6.00 left
V1126a-Ø 12.50 4.00 - 11.00M6.00 left
V1127a-Ø 15.00 4.00 - 13.00M6.00 left
V1128a-Ø 16.50 5.00 - 14.50M8.00 left

Collets

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.23

3



Robobar

D L Fig.CBM1Item No M2

ROB-5.50 5.50 78.00 M4.00 1M3.00
ROB-7.50 7.50 78.00 M5.00 5.00 2
ROB-10.50 10.50 73.00 7.007.00 3
ROB-12.50 12.00 73.00 8.008.00 3
ROB-16.00 16.00 116.00 11.0010.00 3
ROB-18.00 18.00 116.00 11.0010.00 3
ROB-20.50 20.50 110.00 14.0014.00 3
ROB-25.00 25.00 114.00 20.0020.00 3
ROB-26.00 26.00 114.00 20.0020.00 3
ROB-30.00 30.00 197.00 20.0025.00 4
ROB-32.00 32.00 197.00 20.0025.00 4
ROB-36.00 36.00 207.00 20.0030.00 4

Revolving end pieces

Bore from - to -D L MItem No

V4005-Ø 5.00 37.00 0.80 - 4.50M4.00
v4007-Ø 7.00 37.00 0.80 - 6.00M5.00

Collets (tapped)

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.24

3A
ccessories for barloaders



Robobar

B BoreItem No D L

10.00 40.00 7.00V4010-Ø 1.00 - 9.00
12.00 40.00 8.00V4012-Ø 1.50 - 10.50
15.00 40.00 11.00V4015-Ø 2.00 - 13.50
16.00 40.00 11.00V4016-Ø 4.00 - 15.00
18.00 40.00 11.00V4018-Ø 3.00 - 17.00
20.00 65.00 14.00V4020-Ø 2.00 - 19.00
25.00 65.00 20.00V4025-Ø 2.00 - 24.00
30.00 65.00 20.00V4030-65-Ø 4.00 - 29.00
32.00 65.00 20.00V4032-65-Ø 3.00 - 31.00

Collets (pin hole)

Bore from - to -D L B MItem No

V4030-90-Ø 30.00 90.00 20.00 3.00 - 28.00M6
V4032-90-Ø 32.00 90.00 20.00 2.50 - 30.50M6
V4036-90-Ø 36.00 90.00 20.00 4.00 - 34.00M8

Collets lg. 90 mm (screw fixation)

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.25

3



FMB Turbo

D L CBItem No

S9025-197 25.00 197.00 20.0020.00
S9030-197 30.00 197.00 20.0025.00
S9032-197 32.00 197.00 20.0025.00
S9034-197 34.00 197.00 20.0030.00
S9036-197 36.00 207.00 20.0030.00
S9038-197 38.00 207.00 20.0030.00
S9040-207 40.00 207.00 20.0033.00
S9042-207 42.00 207.00 20.0033.00
S9045-207 45.00 207.00 20.0033.00
S9050-207 50.00 207.00 20.0042.00
S9060-232 60.00 232.00 20.0051.00
S9063-232 63.00 232.00 20.0051.00
S9065-232 65.00 232.00 20.0051.00
S9070-232 70.00 232.00 20.0051.00
S9080-232 80.00 - 20.0051.00

FMB, LNS, Breuning, Irco revolving end pieces

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.26

3A
ccessories for barloaders



FMB Turbo

Bore from - to -D L B MItem No

V4025-90-Ø 25.00 90.00 20.00 2.50 - 24.00M5
V4030-90-Ø 30.00 90.00 20.00 3.00 - 28.00M6
V4032-90-Ø 32.00 90.00 20.00 2.50 - 30.50M6
V4034-90-Ø 34.00 90.00 20.00 6.00 - 32.50M6
V4036-90-Ø 36.00 90.00 20.00 4.00 - 34.00M8
V4038-90-Ø 38.00 90.00 20.00 10.00 - 36.00M8
V4040-90-Ø 40.00 90.00 20.00 7.00 - 38.50M8
V4042-90-Ø 42.00 90.00 20.00 3.00 - 40.00M8
V4045-90-Ø 45.00 90.00 20.00 10.00 - 43.00M8
V4050-90-Ø 50.00 90.00 20.00 6.00- 48.50M8
V4054-90-Ø 54.00 90.00 20.00 20.00 - 51.00M8
V4058-90-Ø 58.00 90.00 20.00 20.00 - 55.00M8
V4060-90-Ø 60.00 90.00 20.00 10.00 - 58.50M8
V4065-90-Ø 65.00 90.00 20.00 8.00 - 63.50M8
V4080-90-Ø 80.00 90.00 35.00 40.00 - 77.00M8
V4090-90-Ø 90.00 90.00 35.00 50.00 - 86.00M8
V4100-110 100.00 110.00 35.00 60.00 - 95.00M8

FMB, LNS, Breuning, Irco collets

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.27

3



Bechet

Shank D ColletEnd piecePushrod
Bechet Ø 5.00

5.00 V1500 V1027 V1027a
5.50 V1500a V1031 V1031a

Bechet Ø 7.00

7.00 V1501 V1506 V4007
7.00 V1501a V1028 lg. 83 V1028a

Bechet Ø 10.00

10.00 V1502 V1507 V4010
10.00 V1502a V1029 lg. 102 V1029a

Bechet Ø 12.00

12.00 V1503 V1508 V4012
12.00 V1503a V1110 lg. 122 V1122a

V907 lg. 90 V1122a
Bechet Ø 15.00

15.00 V1504 V1509 V4015
15.00 V1504a V1100 V1608

Bechet Ø 20.00

20.00 V1505 V1510 V4020
20.00 V1505a V1118 V1124a

Bechet summary

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.28

3A
ccessories for barloaders



Bechet

D L MItem No

V1500 5.00 923.00 M3.50
V1500a 5.00 921.00 M3.00
V1501 7.00 881.00 M5.00
V1501a 7.00 916.00 M5.00
V1502 10.00 838.50 M7.00
V1502a 10.00 892.50 M6.00
V1503 12.00 838.00 M8.00
V1503a 12.00 910.00 M8.00
V1504 15.00 839.00 M10.00
V1504a 15.00 895.00 M7.00
V1505 20.00 787.00 M14.00
V1505a 20.00 885.00 M16.00

Pushrods

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.29

3



Bechet

CItem No D L M2 Fig.M1

5.00 58.50 M3.00V1027 1M3.50
5.50 62.00 M3.00V1031 2M3.00
7.00 78.50 M5.00V1506 1M5.00
7.00 83.00 M4.00V1028-83 3M5.00
10.00 102.00 M5.00V1029-102 3M6.00
10.00 116.00 7.00V1507 4M7.00
12.00 90.00 M5.00V907 3M8.00
12.00 116.00 8.00V1508 4M8.00
12.00 122.00 M8.00V1110-122 3M8.00
15.00 92.00 M6.00V1100 3M7.00
15.00 116.00 11.00V1509 4M10.00
20.00 104.00 M8.00V1118 3M7.00
20.00 148.00 14.00V1510 4M14.00

Revolving end pieces

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.30

3A
ccessories for barloaders



Bechet

BItem No D L Fig.M

5.00 22.00V1027a-Ø 3M3.00
5.50 31.00V1031a-Ø 2M3.00 ext.
7.00 22.00V1028a-Ø 3M4.00
7.00 37.00V4007-Ø 3M5.00
10.00 26.00V1029a-Ø 1M5.00
10.00 40.00 7.00V4010-Ø 4
12.00 26.00V1122a-Ø 1M5.00
12.00 40.00 8.00V4012-Ø 4
15.00 35.00V1608-Ø 1M6.00
15.00 40.00 11.00V4015-Ø 4
20.00 30.00V1124a-Ø 1M8.00x1.00
20.00 65.00 14.00V4020-Ø 4

Collets

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.31

3



FMB, Traub, IEMCA, LNS, SAMECA
Revolving end pieces

D L Fig.CBM1Item No M2

S9005A 5.50 68.00 4.50 1M4.00
S9005B 5.50 73.00 M4.00 2M4.00
S9007A 7.00 79.00 M5.00 2M5.00
S9007B 7.50 79.00 6.50 1M5.00
S9010 10.50 101.00 7.008.00 3
S9012 12.00 101.00 8.008.00 3
S9015 15.00 101.00 11.0012.00 3
S9018 18.00 101.00 11.0012.00 3
S9020 20.00 117.00 14.0017.00 3
S9025 25.00 120.00 20.0020.00 3

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.32

3A
ccessories for barloaders



FMB, Traub, IEMCA, LNS, SAMECA

B BoreItem No D L Fig.M

5.00 37.00V4005-Ø 0.80 - 4.50 1M4.00
7.00 37.00V4007-Ø 0.80 - 6.00 1M5.00
10.00 40.00 7.00V4010-Ø 1.00 - 9.00 2
11.00 40.00 7.00V4011-Ø 9.50 - 10.00 2
12.00 40.00 8.00V4012-Ø 1.50 - 10.50 2
13.00 40.00 8.00V4013-Ø 2.00 - 12.00 2
14.00 40.00 8.00V4014-Ø 8.00 - 13.00 2
15.00 40.00 11.00V4015-Ø 2.00 - 13.50 2
16.00 40.00 11.00V4016-Ø 4.00 - 15.00 2
18.00 40.00 11.00V4018-Ø 3.00 - 17.00 2
20.00 65.00 14.00V4020-Ø 2.00 - 19.00 2
21.00 65.00 14.00V4021-Ø 18.00 - 20.00 2
22.00 65.00 14.00V4022-Ø 4.00 - 21.00 2
24.00 65.00 20.00V4024-Ø 16.00 - 23.00 2
25.00 65.00 20.00V4025-Ø 2.00 - 24.00 2
28.00 65.00 20.00 V4028-Ø 3.00 - 27.00 2
30.00 65.00 20.00V4030-Ø 4.00 - 29.00 2
32.00 65.00 20.00V4032-Ø 3.00 - 31.00 2
34.00 65.00 20.00V4034-Ø 28.00 - 33.00 2
36.00 65.00 20.00V4036-Ø 4.00 - 35.00 2
42.00 65.00 20.00V4042-Ø 15.00 - 41.00 2
52.00 65.00 20.00V4052-Ø 40.00 - 51.00 2

Collets

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.33

3



IEMCA

D L M1Item No M2

V100550 5.50 69.00 M4
V100750 7.50 126.00 M5 x 0.50M6 x 0.75
V101000 10.00 113.00 M6 x 0.75M8 x 1.00
V101200 12.00 116.00 M7 x 0.75M10 x 1.00
V101500 15.00 121.00 M8 x 1.00M12 x 1.50
V102000 20.00 133.00 M10 x 1.00M14 x 1.50
V102500 25.00 133.00 M10 x 1.00M14 x 1.50
V103000 30.00 135.00 M10 x 1.00M14 x 1.50

Revolving end pieces

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.34

3A
ccessories for barloaders



IEMCA

D L MItem No

V110550-Ø 5.50 37.00 M4 x 0.50
V110750-Ø 7.50 40.00 M5 x 0.50
V111000-Ø 10.00 40.00 M6 x 0.75
V111200-Ø 12.00 42.00 M7 x 0.75
V111500-Ø 15.00 42.00 M8 x 1.00
V111600-Ø 16.00 42.00 M8 x 1.00
V111800-Ø 18.00 42.00 M8 x 1.00
V112000-Ø 20.00 59.00 M10 x 1.00
V112300-Ø 23.00 59.00 M10 x 1.00
V112500-Ø 25.00 59.00 M10 x 1.00
V113000-Ø 30.00 65.00 M10 x 1.00*
V113200-Ø 32.00 65.00 M10 x 1.00*
V113300-Ø 33.00 65.00 M10 x 1.00*
V113400-Ø 34.00 65.00 M25 x 1.50
V113500-Ø 35.00 65.00 M25 x 1.50
V113600-Ø 36.00 65.00 M25 x 1.50
V114000-Ø 40.00 70.00 M25 x 1.50
V114200-Ø 42.00 70.00 M25 x 1.50
V114600-Ø 46.00 72.00 M25 x 1.50
V115000-Ø 50.00 80.00 M25 x 1.50
V115200-Ø 52.00 80.00 M25 x 1.50
V115400-Ø 54.00 80.00 M25 x 1.50
V115500-Ø 55.00 80.00 M25 x 1.50
V115600-Ø 56.00 80.00 M25 x 1.50
V115800-Ø 58.00 80.00 M25 x 1.50
V116000-Ø 60.00 80.00 M25 x 1.50
V116500-Ø 65.00 80.00 M25 x 1.50
V117000-Ø 70.00 80.00 M25 x 1.50
V117500-Ø 75.00 80.00 M25 x 1.50
V118000-Ø 80.00 80.00 M25 x 1.50

* also available on demand with : M17 x
1.0  /  M25 x 1.5  /  M18 x 1.5  or M18 x 1.5
Left

Collets

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.35

3



CUCCHI

* = left thread

D L Fig.M1Item No M2

V201000 10.00 107.00 M6 x 0.75 1M7 x 1.00
V201200 12.00 107.00 M7 x 0.75 1M8 x 1.25
V201400 14.00 107.00 M8 x 1.00 1M10 x 1.50
V201600 16.00 107.00 M8 x 1.00 1M10 x 1.50
V201900 19.00 118.00 M10 x 1.00 1M12 x 1.75
V201900-L-v1 19.00 100.00 M10 x 1.00 * 1M17 x 1.00 *
V201900-L-v2 19.00 100.00 M14 x 1.50 * 1M17 x 1.00 *
V202400-L-v1 24.00 100.00 M14 x 1.00 * 1M20 x 1.50 *
V202500 25.00 118.00 M14 x 1.00 1M20 x 1.50
V202930-L-v1 29.30 121.00 M18 x 1.50 * 1M26 x 1.50 *
V202930-L-v2 29.30 121.00 M18 x 1.50 * 2M26 x 1.50 *
V202930-L-v3 29.30 121.00 M26 x 1.50 * 1M26 x 1.50 *
V203000 30.00 123.00 M18 x 1.50 1M24 x 1.50
V203800-L-v1 38.00 109.00 M30 x 1.50 * 1M30 x 1.50 *
V203800-L-v2 38.00 109.00 M30 x 1.50 * 1M30 x 1.50 *
V204000 40.00 61.00 M25 x 1.50 1M28 x 1.50

Revolving end pieces

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.36

3A
ccessories for barloaders



CUCCHI

* = left thread
 SW = on flats
Fig. 2 & 3 also available in version "L" or "LS"

Bore from - to -D L Fig.SWMItem No

V211000-Ø 10.00 50.00 2.00 - 9.00 1M6 x 0.75
V211200-Ø 12.00 52.00 3.00 - 11.00 1M7 x 0.75
V211400-Ø 14.00 52.00 4.00 - 12.50 1M8 x 1.00
V211500-Ø 15.00 52.00 4.00 - 14.00 1M8 x 1.00
V211600-Ø 16.00 52.00 4.00 - 15.00 1M8 x 1.00
V211800-Ø 18.00 59.00 4.00 - 17.00 1M10 x 1.00
V212500-Ø 25.00 59.00 10.00 - 23.00 1M14 x 1.00
V213000-Ø 30.00 65.00 8.00 - 28.00 1M18 x 1.50
V222900-Ø 29.00 80.00 5.00 - 27.00 2M17 x 1.00
V223000-Ø 30.00 80.00 5.00 - 28.00 2M17 x 1.00
V223200-Ø 32.00 80.00 5.00 - 30.00 2M25 x 1.50
V223400-Ø 34.00 80.00 20.00 - 32.00 2M25 x 1.50
V223600-Ø 36.00 80.00 20.00 - 34.00 2M25 x 1.50
V223800-Ø 38.00 80.00 20.00  - 36.00 2M25 x 1.50
V224000-Ø 40.00 80.00 10.00 - 38.00 2M25 x 1.50
V224200-Ø 42.00 80.00 10.00 - 40.00 2M25 x 1.50
V224400-Ø 44.00 80.00 38.00 - 42.00 2M25 x 1.50
V224600-Ø 46.00 80.00 39.00 - 44.00 2M25 x 1.50
V224800-Ø 48.00 80.00 40.00 - 46.00 2M25 x 1.50
V231900-Ø 19.00 60.00 17 4.00 - 17.00 3M10 x 1.00 *
V232000-Ø 20.00 60.00 17 8.00 - 18.50 3M10 x 1.00 *
V232300-Ø 23.00 60.00 21 4.00 - 21.00 3M14 x 1.00 *
V232400-Ø 24.00 60.00 22 21.00 - 22.00 3M14 x 1.00 *
V232500-Ø 25.00 60.00 22 6.00 - 23.50 3M14 x 1.00 *
V232800-Ø 28.00 65.00 24 21.00 - 24.00 3M18 x 1.50 *
V232900-Ø 29.00 65.00 27 5.00 - 27.50 3M18 x 1.50 *
V233000-Ø 30.00 65.00 28 18.00 - 28.00 3M18 x 1.50 *
V233200-Ø 32.00 65.00 28 20.00 - 30.00 3M18 x 1.50 *
V233300-Ø 33.00 70.00 30 25.00 - 31.00 3M18 x 1.50 *
V233400-Ø 34.00 70.00 30 8.00 - 32.50 3M18 x 1.50 *

Collets

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.37

3



CUCCHI

Bore from - to -D L Fig.SWMItem No

V233500-Ø 35.00 70.00 32 10.00 - 33.00 3M18 x 1.50 *
V233700-Ø 37.00 70.00 32 10.00 - 35.00 3M25 x 1.50 *
V233780-Ø 37.80 70.00 32 30.00 - 36.00 3M25 X 1.50 *
V233900-Ø 39.00 70.00 36 16.00 - 37.00 3M25 x 1.50 *
V234000-Ø 40.00 70.00 36 20.00 - 38.00 3M25 x 1.50 *
V234100-Ø 41.00 70.00 36 19.00 - 40.00 3M25 x 1.50 *
V234200-Ø 42.00 70.00 36 20.00 - 40.00 3M25 x 1.50 *
V234280-Ø 42.80 70.00 36 20.00 - 41.00 3M25 x 1.50 *
V234400-Ø 44.00 70.00 36 20.00 - 42.00 3M25 x 1.50 *
V234700-Ø 47.00 70.00 40 10.00 - 45.00 3M30 x 1.50 *
V234970-Ø 49.70 70.00 50 20.00 - 48.00 3M30 x 1.50 *
V235500-Ø 55.00 80.00 50 20.00 - 53.00 3M30 x 1.50 *
V235900-Ø 59.00 80.00 56 19.00 - 58.00 3M30 x 1.50 *
V236500-Ø 65.00 80.00 60 58.00 - 62.00 3M30 x 1.50 *
V237000-Ø 70.00 80.00 - 60.00 - 67.00 3M30 x 1.50 *
V237500-Ø 75.00 80.00 - 65.00 - 72.00 3M30 x 1.50 *

Collets continuation ...

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.38

3A
ccessories for barloaders



N
otes

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch



LNS

Shank D ColletEnd piece

6.00 V1032 V2000
7.00 V1032 V2001

10.00 V1029-102 V2002
12.70 V1037 V2003

LNS Tryton summary

Shank D ColletEnd piece

7.00 LNS7 V4007
10.00 LNS10 V4010
11.00 LNS10 V4011
12.00 LNS12 V4012
13.00 LNS12 V4013
14.00 LNS12 V4014
15.00 LNS15 V4015
16.00 LNS15 V4016
17.00 LNS15 V4017
18.00 LNS18 V4018
19.00 LNS18 V4019
20.00 LNS20 V4020
21.00 LNS20 V4021
22.00 LNS20 V4022
23.00 LNS20 V4023
24.00 LNS20 V4024
25.00 LNS25 V4025-65
26.00 LNS25 V4026-65
27.00 LNS25 V4027-65
28.00 LNS25 V4028-65
29.00 LNS25 V4030-65
32.00 LNS25 V4032-65
34.00 LNS25 V4034-90
36.00 LNS36 V4036-90
37.00 LNS36 V4037-90
38.00 LNS36 V4038-90
40.00 LNS50 V4040-90
42.00 LNS50 V4042-90

LNS Minisprint & Express summary

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.40

3A
ccessories for barloaders



LNS

B CL1Item No D L M2 Fig.M1M

5.50 62.00 M3.00V1031 1M3.00
7.00 63.00 M4.00V1032 2M5.00
7.00 131.00 M5.00LNS7 3M4.00

10.00 95.00 8.007.0042.00LNS10 4M4.00
10.00 102.00 M5.00V1029-102 2M6.00
12.00 70.00 M6.00V1037 2M6.00
12.00 95.00 8.008.0042.00LNS12 4
15.00 96.00 12.0011.0042.00LNS15 4M5.00
18.00 96.00 12.0011.0042.00LNS18 4
20.00 111.00 17.0014.0046.00LNS20 4M8.00
25.00 115.50 20.0020.0048.00LNS25 4M8.00
36.00 198.00 30.0020.00LNS36 4
50.00 208.00 42.0020.00LNS50 4

LNS Minisprint & Express End pieces

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.41

3



LNS

D L MItem No

V2000-Ø 6.00 30.00 M4
V2001-Ø 7.00 30.00 M4
V2002-Ø 10.00 30.00 M5
V2003-Ø 12.00 30.00 M6

LNS Tryton collets

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.42

3A
ccessories for barloaders



"Longlife" collets

"Longlife" collets available in
versions :

Type L = suitable for hex. and square•
Type LS = partial slots•

Type L No Type LS No D d L Bore from - to - Square / hex from - to -

L4005-Ø LS4005-Ø 5.00 M4 40.00 3.50 - 4.30
L4007-Ø LS4007-Ø 7.00 M5 40.00 4.30 - 6.00

L4007R-Ø LS4007R-Ø 7.50 M5 40.00 6.00 - 7.00
L4010-Ø LS4010-Ø 10.00 7.00 40.00 6.00 - 9.00 6.00 - 8.00
L4011-Ø LS4011-Ø 11.00 7.00 40.00 9.00 - 10.00 8.00
L4012-Ø LS4012-Ø 12.00 8.00 40.00 8.00 - 11.00 7.00 - 9.00
L4013-Ø LS4013-Ø 13.00 8.00 40.00 11.00 - 12.00 10.00
L4015-Ø LS4015-Ø 15.00 11.00 40.00 10.00 - 14.00 9.00 - 12.00
L4016-Ø LS4016-Ø 16.00 11.00 40.00 13.00 - 15.00 12.00 - 13.00
L4017-Ø LS4017-Ø 17.00 11.00 40.00 14.00 - 16.00 13.00
L4018-Ø LS4018-Ø 18.00 11.00 40.00 12.00 - 17.00 11.00 - 14.00
L4019-Ø LS4019-Ø 19.00 11.00 40.00 17.00 - 18.00 15.00
L4020-Ø LS4020-Ø 20.00 14.00 65.00 14.00 - 19.00 13.00 - 16.00
L4021-Ø LS4021-Ø 21.00 14.00 65.00 18.00 - 20.00 16.00 - 17.00
L4022-Ø LS4022-Ø 22.00 14.00 65.00 16.50 - 21.00 15.00 - 18.00
L4023-Ø LS4023-Ø 23.00 14.00 65.00 18.00 - 22.00 16.00 - 19.00
L4024-Ø LS4023-Ø 24.00 20.00 65.00 20.00 - 23.00 18.00 - 20.00
L4025-Ø LS4025-Ø 25.00 20.00 65.00 16.00 - 24.00 14.00 - 20.00
L4026-Ø LS4026-Ø 26.00 20.00 65.00 23.00 - 25.00 20.00 - 21.00
L4027-Ø LS4027-Ø 27.00 20.00 65.00 24.00 - 26.00 21.00 - 22.00
L4028-Ø LS4028-Ø 28.00 20.00 65.00 20.00 - 27.00 18.00 - 23.00
L4030-Ø LS4030-Ø 30.00 20.00 65.00 22.00 - 29.00 20.00 - 25.00
L4031-Ø LS4031-Ø 31.00 20.00 65.00 29.50 - 30.00 26.00
L4032-Ø LS4032-Ø 32.00 20.00 65.00 20.00 - 31.00 18.00 - 27.00
L4033-Ø LS4033-Ø 33.00 20.00 65.00 30.00 - 32.00 27.00
L4034-Ø LS4034-Ø 34.00 20.00 65.00 28.00 - 33.00 25.00 - 28.00
L4036-Ø LS4036-Ø 36.00 20.00 65.00 30.00 - 35.00 27.00 - 30.00
L4039-Ø LS4039-Ø 39.00 20.00 65.00 36.00 - 38.00 32.00 - 33.00

Longlife collets with pin hole

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.43

3



"Longlife" collets

Type L No Type LS No D d L Bore from - to - Square / hex from - to -

L4042-Ø LS4042-Ø 42.00 20.00 69.00 38.50 - 41.00 34.00 - 35.00
L4052-Ø LS4052-Ø 52.00 20.00 70.00 47.00 - 50.00 41.00 - 43.00

continuation ...Longlife collets with pin hole

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch3.44

3A
ccessories for barloaders



"Longlife" collets

"Longlife" collets available in
versions :

Type L = suitable for hex. and square•
Type LS = partial slots•

Type L No Type LS No D d L Bore from - to - Square / hex from - to -

L4025TD-Ø LS4025TD-Ø 25.00 20.00 90.00 15.00 - 24.00 13.00 - 20.00
L4030TD-Ø LS4030TD-Ø 30.00 20.00 90.00 20.00 - 29.00 18.00 - 25.00
L4032TD-Ø LS4032TD-Ø 32.00 20.00 90.00 22.00 - 31.00 19.00 - 26.00
L4033TD-Ø LS4033TD-Ø 33.00 20.00 90.00 30.00 - 32.00 26.00 - 27.00
L4034TD-Ø LS4033TD-Ø 34.00 20.00 90.00 25.00 - 33.00 22.00 - 28.00
L4036TD-Ø LS4036TD-Ø 36.00 20.00 90.00 28.00 - 35.00 25.00 - 30.00
L4038TD-Ø LS4038TD-Ø 38.00 20.00 90.00 30.00 - 37.00 27.00 - 32.00
L4040TD-Ø LS4040TD-Ø 40.00 20.00 90.00 35.00 - 39.00 31.00 - 33.00
L4042TD-Ø LS4042TD-Ø 42.00 20.00 90.00 30.00 - 41.00 27.00 - 35.00
L4043TD-Ø LS4043TD-Ø 43.00 20.00 90.00 41.50 - 42.00 36.00
L4045TD-Ø LS4045TD-Ø 45.00 20.00 90.00 40.00 - 44.00 35.00 - 38.00
L4050TD-Ø LS4050TD-Ø 50.00 20.00 90.00 40.00 - 49.00 35.00 - 42.00
L4055TD-Ø LS4055TD-Ø 55.00 20.00 90.00 45.00 - 54.00 40.00 - 46.00
L4060TD-Ø LS4060TD-Ø 60.00 20.00 90.00 50.00 - 59.00 44.00 - 51.00
L4063TD-Ø LS4063TD-Ø 63.00 20.00 90.00 50.00 - 62.00 44.00 - 53.00
L4065TD-Ø LS4065TD-Ø 65.00 20.00 90.00 53.00 - 64.00 46.00 - 55.00
L4070TD-Ø LS4070TD-Ø 70.00 20.00 90.00 65.00 - 68.00 -
L4073TD-Ø LS4073TD-Ø 73.00 20.00/35.00 90.00 68.00 - 71.00 -
L4075TD-Ø LS4075TD-Ø 75.00 20.00/35.00 90.00 70.00 - 73.00 -
L4080TD-Ø LS4080TD-Ø 80.00 35.00 90.00 75.00 - 78.00 -

Longlife collets with scews 

A
ccessories for barloaders

Tél.: +41 32 436 10 50 | Fax: +41 32 436 10 55 info@wibemo.ch | www.wibemo.ch 3.45

3



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /FRA <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


